
三平方の定理 [三平方の定理]

＜演習問題＞
次の直角三角形について、
xの値を求めよ。
(1)

6cm

8cm

xcm

三平方の定理より、
x2 = 62 + 82

x2 = 100

x = ±10

x > 0より、x = 10

(2)

4cm

xcm

2
√
5cm

三平方の定理より、
(2
√
5)2 = 42 + x2

x2 = 4

x = ±2

x > 0より、x = 2

(3)
24cm

xcm 26cm

三平方の定理より、
262 = 242 + x2

x2 = 100

x = ±10

x > 0より、x = 10

(4)

2cm

3cm

xcm

三平方の定理より、
x2 = 22 + 32

x2 = 13

x = ±
√
13

x > 0より、x =
√
13

(5)

xcm

xcm

4cm

三平方の定理より、
42 = x2 + x2

2x2 = 16

x2 = 8

x = ±2
√
2

x > 0より、x = 2
√
2

(6)

√
15cm √

5cm

xcm

三平方の定理より、
x2 = (

√
15)2 + (

√
5)2

x2 = 20

x = ±2
√
5

x > 0より、x = 2
√
5
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